<tuml version="10" encoding="UTF-8"?=

<hgx xmins="http://histogenetics.com/schema/hgx-1.0. 1.xsd" version="1.0.1"
smilns esd="http:ffweaw w3 org 2001 XMLSchema” amins:xsi="https fwwee w3 org 200 L XMLSchema-instance™=
<project names=""»

<reporting-center code="" />

<sample id="Sample 1D 4" center-code="001" receive-date="20120410">
<typing>

<interpretation date="20211110">

<haploid locus="A" method="5BT" type="XX}X" allele-number="1" />
<haploid locus="A" method="SBT" type="XXXK" allele-number="2" />
<haploid locus="8" method="58T" type="X}}X" allele-number="1" />
<haploid locus="B" method="58T" type="XXxX" allele-number="2" />
<haploid locus="C" method="58T" type="X}}X" allele-number="1" />
<haploid locus="C" method="58T" type="XXXX" allele-number="2" />
<haploid locus="DRE1" method="5BT" type="XXXX" allele-number="1" />
<haploid locus="DRBE1" method="5BT" type="XXXX" allele-number="2" />
<haploid locus="DREZ" method="5BT" type="X}X)X" />

<haploid locus="DRE4" method="5BT" type="KXKXx" />

<haploid locus="DRB5™ method="5BT" type="XXXX" />

<haploid locus="D0B1" method="58T" type="X30X" allele-number="1" />
<haploid locus="D0OB1" method="58T" type="XXX" allele-number="2" >
<haploid locus="DPB1" method="5BT" type="X)}XX" allele-number="1" /=
<haploid locus="DPBE1" method="SBET" type="¥}}X" allele-number="2" />
<genptype-list=

<diploid-combination locus="A" technology="lllumina" db="HLADB" version="3.34.0">
<locus-bock=

<allele-list allele-number="1">

<allele=X¥X</alleles

<fallele-list=

<flocus-block>

<locus-block>

<allele-list allele-number="2">

<allele=X¥00< alleles

<fallele-list>

<flocus-block=

</diploid-combination>

=diploid-combination locus="B" technalogy="Illumina"” db="HLADB" version="3.34.0">
<locus-block>

<allele-list allele-number="1"=

<allele>X00</alleles

<fallele-list>

<flocus-block=

<locus-block:>

<allele-list allele-number="2">

<allele>X300</allela>

=fallele-list>

<flocus-block=

< /diploid-combination=

<diploid-combination locus="C" technalogy="lllumina” db="HLADB" version="3.34.0">
<locus-block:=

<allele-list allele-rumber="1"=

<allele=K¥</allele>

<fallele-list>

<flocus-block>

=locus-block=

<allele-list allele-number="2"=

<allele=X¥</alleles



<fallele-list=

<flocus-block>

= diploid-combination=
<diploid-combination locus="DRE1" technology="Illumina" db="HLADB" version="3.34.0">
<locus-blocks

<allele-list allele-number="1"=
<allele=XXXX</allele>
<fallele-list=

<flocus-block>

<lpcus-blocks

<allele-list allele-number="2"=
<allele=})03</allele=
<fallele-list>

</locus-ock>
=/diploid-combination>
<diploid-combination locus="DRB3" technology="lllumina" db="HLADB" version="3.34.0">
<lociis-Mocks

<allele-list allele-number="1">
Zallele=XXX<fallele

< fallebe-list >

<flocus-block>

<locus-blocks

<allele-list allele-numbar="2">
<allele=}XkX</ allele>
<fallele-list>

<fMocus-Hock>
</diploid-combination>
<diploid-combination locus="DRE4™ techrology="lllumina” db="HLADBE" version="3.34.0">
<locus-block=

<allele-list allele-number="1"»
<allele=XX0< alleles
<fallele-list>

<flocus-block=

<locus-block>

<allele-list allele-number="2">
<allele=X300</allele>
<fallele-list=

<flocus-block>
</diploid-combination=
<diploid-combination locus="DRBES" techrology="lllumina" db="HLADB" version="3.34.0">
<locus-block=

<allele:-list allele-numbers"1"»
callelexX¥0</allelex
<fallele-list>

<flocus-block>

<locus-block>

<allele-list allele-number="2">
<allele=XE<fallele

< fallele-list>

<flocus-block>
</diploid-combinations
<diploid-combination locus="DORA1" technology="lllumina™ db="HLADB" version="3.34.0">
<locus-block=

<allele-list allele-number="1"=
<allele=X00< alleles

< fallefe-list>

< flocus-block>



<locus-block>

<allele-list allele-number="2">
<allele=X<fallele
<fallele-list>

<flocus-block>
</diploid-combinations>
<diploid-combination locus="DPBE1" technalogy="Illumina" db="HLADR" version="3,34,0">
<locus-Mlock=

<allele-list allele-number="1">
<alleles>XX</allelas

< fallele-list>

<flocus-block>

<locus-block>

<allele-list allele-number="2">
callele=X¥ < alleles
<fallele-list>

<Mocus-tlock:
</diploid-combination=
</genotype-list>
=finterpretations

<hla locus="&" />

<hla locus="g" >

<hla locus="C" />

<hla locus="DREL" />

<hla locus="DRB3" />

<hla locus="DRE4" />

<hla locus="DRBS" />

<hla locus="DOBEL" />

<hla locus="DPE1" /=
</typing>

< sample>

</project>

</hgx>



